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����������
������∗�/�∗ �−��;�∗∗�� ∋�

� ����;�∗∗�
/�	�������
�����������;�
−��	�
������
−∋ �������∋���−∗�� �−�����/������������
� 
 ������∋��3�∋�−��2 ∋ �−6�����2 ��������∋;����
2∋�����∋;−��2∋ ���
����Γ

� ∋��� ����∋∋�� �������∗������∗� ����∋ −��������� ∗��
���� �� �/����2∋������)��∗� ����
��������
��#�
����������	
������;�	�� ���!�+�,�
/∋���9������)��
��������/�∋7�����3� � ����−����,������� ���
�4−/���� �����∗51����/�∗�����∋���/���∗� /� ������ 3�����9�∋��∗�����∋� 
−�� 0������/��
 ���� 3��������
�/� 
 �−�6����)��∗� �������∗��� � �����4�,/∋� ��� ��5�∀��
�8�����4��3��	��(��� ) �������)� ��∋��∗.� ,�
�; 
/∋����� ��������∋��∗��������−)−���∗�65�>∋�/�����−	�∋�
����∋���
��������−∗���� ����/����∋ 
 ����∋��
3�∋�−��2 ∋ �−6�����2 �����������/���������(��0�;=�∋��∗�����∋� 
−�� 0�������−)−���∗��Γ

� ∋���∗������∗� �������3�∋∋���� �/���−������������)��
�∋ �−����� �������∋4��� ∗∋������%�����∗�������∋4��2�� �
��
�������
 ����=�∋��∗��� � ���0���∋��
�8�����4��3��	��/������∋���
��������−∗���� ����/����∋ 
 ����∋��
3�∋�−��2 ∋ �−6�����∗������∗� �����������2 ����)�∗������ �0����4 ������ ���Γ
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� �����∋�����∗�������4−∗��∋�
�����������,������

��������∋��&��∋����������))∋�������∋������3�∋∋���
∗������∗� ��������� 
/∋���−�������∋��������4−∗��∋�
����∋��������∗�������������∗��Υ������)�Υ���=�/��
������
∋��/����	���������,�Γ

� ∋�����Θ�����������.�����∋ 0��
���������/��������������)����/����2���∗∋�����∋ 2���−∗��∋�
��������∗����5
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>− +���(��+.����	(���/���		 	Π	 		.�/.��	���	�����	 	

∀���/���∗� /� ���6��� 3�������4 
/��������,�
�8������4��3��	������
�8������4?�3������/��(������3���6�� �� �
0�4��,�/��/� −�� �������2 �����, �������=�∗�
/�������∋��������4�//��2�� ������/�−�����∃∃�5

∀������3��,����3��	�������∗� 3 �−�����∗�/� 2∋������/���������� ����=�∋4���������,�
 ∋ ��,��0��� 0���������
���
 ��=������ ��� ������=��−∗∋���� ������� �������∋��∋� �����∋4���5�∀������ ∗∋���∀5���%��=�∀5���%≅������∗�������
∋4��3 �����
����) ,����∋���∗��� � �����4�//∋ ∗�� ������∗���� �/�� � ���5

+,����������%���������14=/4����������
����	���	���	���
�	%��−∗��������Λ�(� ∋∋������Α

��2� 0����5�5�5�5�>����∋∋�� �������3��	������
2∋� �6������∋��∋ ��
�(���6��;���∗������;����9

�5 ���)�∗��������� ��6���/−� ��������−	�∋��=��������
��+∆���� ��� ��1�Γ

�5 ���)�∗��������� ��6���/−� ��������−	�∋��=�����
����� �)−� �����=��������
��+�−∗∋���� ��15

∆����������∋��/�−��������2� 0����∋��∋ ��
�(�������∗������;��������∋��#����������∋∋�
���� �����2∋��/���∋��/∋���
)�����∗����∗���������/���∋��∗����∗�������∋�6�� �∗�∋∋�%∗ �������/−� ����5�∀�����)�∗��������� �������∋��/��� ��
7�−��=�∋;�,/��� �������∗��������)� �����∋;�, ����∗�����∋; ����∋∋�� ��������3��	�����∗�
/� ��∋�����)�∗���∗∗�/−��
/���∋; ����∋∋�� ����∋;��3��	�����∋����
2∋� ������∋��∋ ��
�(���5

>−1− +������������	
�	������������	 	


= ������� 	 �
 	 �������� 	 
�� 	 �����
��� 	 �� 	 �
������� 	 �� 	 ���#���	 		
�����
�

� ∀����,���� �������/∋��������
Ξ�������∗∗�
/�	�−������
�������3 �����=��−�� ���∋��3�∋�−��2 ∋ �−6�	∋�2�∋���
/����∋4����
2∋�����∋��∗������∗� ���+�, ������Ω��,���� ��15

� ∀����−����,���∗.� 0����+�����	�#��−∋�∗�� ∗ �−1������−0� /−���;���� �/�� � )����
 ���.�������3 ∗�����∋�����
/��� ��� �����2∋������� ����∋∋−��.�����;��������
�� !���=�)�∗ ∋ ����∋���������=�∋�����
�∋���/�!��∋���−∗���5

� ∀���
��−� �∋��−∋�∗�� 0�����−∋�∗���� 0�����−∋�∗���
−∗�� 0������//��� ∋�����∗.��))�	�����∋����//��� ∋��
−∋�∗���
−��	���������/∋�∗−����%����������∋��∗��������−)−���∗�65����∗����4 
/��� 2 ∋ �−���∗.� 0���� ∋�������
�−
���−������−/∋�∗−����%����������∋��∗��������−)−���∗�����∗������
���−���������,�����4�2���∗��
/��∋��	−������
�� !���=�)�∗ ∋ ����∋���������=�∋�����
�∋���/�!��∋���−∗���5

� ����
��−� ��,� ����� 2∋���=�∋;���������� �−���3�∗�����/���� ���.����)�	����������∗������2∋���������� ∋ �−��
/����������/��� �����∗������∗� ���� ��−�������∋��∗��������−)−���∗�65

� ∀���∗ �������������−�������,�−� �����������−���∗.����∋���−������) ,−��������∋����/���−	−���∗������∋���
�))�� ∋∋�
����65�∀����−3��������� ��−���%����������∋��∗��������−)−���∗�5

� ∀�����3�������� �����2∋���+/���������	���	����/�������;����−�����∗51������−0� /−������� �/�� � )��
�;−���∗.− �−�+/����,�
/∋������2��������,61��) ���;−3 ����∋�������−����;���5�∀����.������������ ��/���
�,∗−������
��) ���4−3 ����∋��� �0��������/�����2����∋�����∗���������/���� ��5

� ���
��0��	��+/ 0������� 	��∋−� 0��1��� ��/��
������∋��∋�∗�∋ ��� �������2��� ������/ �∗ �������∗������
��2
��� ��5�

� ∀�������∋��
 ������/∋�∗�����������)��
����������
� ��������−/��� � ������∗5��∗���−0� /�
����������/∋�∗−��
��%����������∋��∗��������−)−���∗�65

� ∀����−����,��;���� � ���
���������−���∗.����/���−	−��∗������∋����))�� ∋∋�
����6�������/�−��/����−3 ����
∋;�		��3�� �������� �0�����; ������ �������#�������2�� �−���/�����)��∋�
����=�/��� ������∗������;�������
����#����� ����−���+∗∋�/������ %�����������∋����,��� ������ �/�� � )����� %��)��∋�
��������∋���−����15

 = �������	�
	������
���	��	�
	��
 �����	
�	 Λ������	 	

� ∀���2Μ� 
����������∗������ ������
�� !���=�/��3� ���−� �������,������
������ ))−���� �∋�6������,�����%
/���� ����.�������� 0���6����,��))�� ∋∋�
����6������,�−��� ����∋�∗�∋ �−��5�
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� ∀���)����� �������/��� ������2Μ� 
�����∗������ ���������∋��∗��������−)−���∗�6�������−�∋ �−����3�∗�����

��−� ��,� ����� 2∋���=�∋;���������� �−��/����∋;Β���5

� ∀���/ �∗ ���������∗������ ����/�����−� �����=�∋��3�� �� ������/���� ������∗������∗���5

�= +��6����	���	
���
���	���	��	 Λ��	 	

� ∀���
���������3Β��
����������∋��� ��∋�� ����.��
 0������/.�� 0���������−�∋ �−��=�∋;� ������
��−� ��,�
 ����� 2∋���=�∋;����/����∋���/��� ������2Μ� 
������ ��−�����������������∋��∗��������−)−���∗�65

� <��������)�∗�����/∋��∗.���� ��−����������∋��∗��������−)−���∗�6�����∗��Υ������)�Υ���=�/��
������
∋;−∗��∋�
�����������,�/�������∋��∗�������∋;−3�∗��� �����/ ����������,��/�!��∋��∗���5�


= +��6���� 	 ��� 	
���
���	��� 	 ���	 ��#�
���������� 	�� 	 ������� 	 ����	 		
���
��	���	�
	∗���	����

 ��

� ∀�������∋����∗������∗� ���������∋�����−)�∗� ����∋���∗.����−������#����� �����2∋��������������∋��
������
�:�∗�∋��������∗.� 0��
����/��� 2∋�����−∗���
 0��
����3 �2∋���∗��Υ��������−�∋ �−����3�∗�����
��−� ��,�
/������/������� 2∋���=�∋;���5��∋∋��������−0� /−����;��3��	���/��
�������∋�������/����∗��)�∗����,�
−∗��∋�
�����+��3��	������−∗.��	��/����,�
/∋�1�����/���−	−���∗������∋���−��� ���5

� ∀�����
2∋� �6��−�∋ �−�������∋��∗������4����
−��	�
��������� �−�∋��������3�∗�∋��/∋���	�����������/����∗��
.�����∋ 0�������3�∗�∗�
/����� ����∗����/����∗����
���∋−���∗��)��
−
����=�∋����������
−�.��������∋���
��
2∋� �����#���� �����2∋���//���3−��/���∋��∃�−)������2��� ���.7��%Φ−� ������−��∋�������/��
2���
���Λ5

� ∀���0�4 ∋������� �−3 ��2∋����∋�����
2∋� �������∋ 
 �−�������� ∗��
 � 
�
�+�
/� ������∋��∗������∗� ������
�∗∗!�1�����∗�
/���−��/�������
��3�
������������������∋4�
/� ���/��∗�∋∋� �������!��
���6�� ��−������∋��
#���� �����2∋�5

�= �������	�����
��	
�	�����	������������	���	�
	∗���	����

 ��	 	

� ∀���
� ∋∋��������∗.� 0�����, �����������∗��∗�/� ���������
 ������?�3����������∗.��∗.−����) ������������
.�����∋ 0��
���������/��������∋���∗������∗� �������3�∋∋�������,���� ����+∗)5����5Α5����∗�

����� ���15

� <�����2���∗∋��=�∋;−∗��∋�
����� ��� ∋������2������−������−∋ 
 �−5

>−7− +������������	���
��6��	≅	�∃������
����	��	≅	�∃�%�����
����	 	


= ������� 	 ��� 	���:���	
�	��������� 	�� 	
� 	

���� 	 ���� 	
�%	� Κ���	 		
#����
���

� ∆) ���;−3 ��������/�∋∋�� ���∗���−∗�� 3��=�∋��∗�����∋���/���� ������	����,��/�∋∋������������� 2∋���=�∋;����
��������∗ς−����%����������∋��∗��������−)−���∗�6����� ��−����������∗���������−���∗.����� 
−����∋���−����
)�Υ���=��−� �����=�∋��∗��������−)−���∗�65�∀��� ����∋∋�� ���������
�� ������� �/�� � )���4���Β��������
�−∗����, ���∗∋� ��
���� ���� ) −�5�


���� �/�� � ����3 �����∋��� ����∋∋�� ��������/��� ∗�∋ ����+∗�3����4.����∗��2�����/����,�
/∋�1�∗�

��∋���
/��)��� ����∋�����∋���∗�∋∋�∗� 3 �−�5

� ∀;−3���6�����∗ ������������ ��−���%����������∋;�∋� ��������∋��∗��������−)−���∗�65�

� ∃����∋���∗ �������������−���+����

�����;.����∗��2����1��∋���0�;�∋∋������������� �−����∋����� ) ∗���.����
�;���������/���−	−��∗�����������∗.�∗�����)������/���� ���5

 = ���;�)��	�
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� ∀���∗������∗� ����∋−	!�������/��3 �� �����∋���.�2 ��� ����∋−	!�������∀� � ����������� 
−������� �−
����
�−/∋�Υ�2∋���.����#���� �����2∋�5

� ∀���∗���3����������∋������ ����
������������� �−��∋���3−. ∗�∋��������	 ���
�2 ∋���/��0�−������ 3�������
����� ��������∋6������/∋�∗−�����)�Υ���=�∗�����3���∋�����
���������
�2 ∋ �−�������
��?�3������3������
/��
������=������
�
��������−3�∗��� �����/ ��5

� ∀���2�����,%∋�	�
�������� �)������∗����������
−��	�
�����∋−	����0� �∋���������∋ −��+∋����∗∗!��
����

���1����������� �−��=�∗��� � ���0���∋������
����	����� ����/�−3���/�����−� �����=�����∗���������/��
�Θ��5

� ∀���
��−� �∋���
��−� ��,����/���� ������� 2∋���=�∋;����������∗�/� 2∋����;Β�����
/���−��/���∋��∗����
+����

�������∗ς������−/7������
��−� ��,1�����������/��−����%����������∋��∗��������−)−���∗�6��=��−)����
 ∋�������� �−
�����−/∋�Υ�2∋���.�����4���� �������∋��∗���5

� ∀��
�2 ∋ ����;�,�−� ����������∗�−����������∗�/� )5

� ∀���∗���� �����=��−∗.�����������∗�−������������∗�/� )�5�∀���0�; ∋������������/��−�����������
�
−��	�
������/−∗ ) 0����+��/��∋�∗�∋�=�/��2�∋∋��1��∗������� ���������∗∋��5

�= +�������	���	 ����	 	

� ∀���∗.�/��∋���)�����	�����−∗�∋�������
��−� �∋���	� ∗�∋����� 3����/��3� ��Β����−3�∗�−��������������� �������
��2
��� 2∋������/∋�∗−����%����������∋��∗��������−)−���∗�6��!��∋4�∋��������∗�����	−�−���� ∗������
�−2����
����� 
/��������+�� 3 �����∗����������
/���−�∋�����∋��� ���ΠΠΠ53 	 ∗����5	��35)�615

� ���∗��0� �∗��∗�����∋;�,/∋� ��� �������∗��� !������������� �/�� � ���������/� ����/����/��3� ��−3�∗����∋���
��	 ������
��−� �∋��
�2 ∋����� �� �0���∋���/���� ������	����,����∗������
���−���������,����∗�
/� ��∋���
(�����)−� −�5

� ∀����,/∋� �������������� ������∗�
/ �	���Ν������∗���3���	���� 3����/��������������� �/�� � �����
����

���������∋�����!	∋�
���� ��−� �����/����/��
������∋;−3�∗��� ���∗�
/∋!������������ ���� ��−����%
�����������∋��∗��������−)−���∗�6����∗������
���−���������,����∗�
/� �����∋;�2���∗�����∗∋ ����5
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